S
HAT-I/Part-I
©E () AHIRT {/Section (A) General Knowledge
: , &)
1. wiH Wmmﬁmm%ﬁqgﬁmmﬁmwmw% ?
(A) FERERET :;«) (B) TR AT i
(C) o & Ry <ireray ~ (D) e e fre
What is the name of the mission launched to resto%%degraded forest landscapes in India ?
(A) Forest Revival Scheme ‘ % (B) Social Forestry Scheme
(C) Van Dhan Vikas Yojana <] (D) Green India Mission
2. Tl e el 3 e g it s fcr g e o e s e e e
TS 7
(A) $a T . (B) aafed ¥
© A wret D) fesfieifem s
Which bilingual portal is developed by New Media Wing of the Ministry of Information and Broadcasting
for streaming government video content ?
(A) eSamvad Portal (B) Vartalap Setu
(C) NaViGate Bharat @) (D) DigiMedia Bharat
3. I S e e s iy & 0
,l (A) wmTIvV ‘fl (B) WV
(©) Ty & (D) wmm
é’ Which part of the Indian Constitution deals with ﬁruidamental Rights ?
j (A) PatIv J®) Patv
(C) Partl : 4;:3 (D) Part I :
4. “mﬁwwW’g@w%mgﬁ%wﬁmw%maﬁmﬁmmmﬁ%?
(A) T T T ST (B) WEgama
(©) Uy =, g (D) WA o uftwg
Which government body is responsible for publishing books under the “Azadi ka Amrit Mahotsay”
series ? @ ,
(A) Election Commission of India e "“) (B) NCERT
(C) National Book Trust, India ;;\‘j (D) Press Council of India
5. 2024%U@uw$wﬁﬁmw#mé§)ﬁwgwm§m ?
(A) iefrs iee B C’ (B) WSS ¥y

(©) mwmmm o (D) 9T G wriremor

Which organization received the Rashtriya Kﬁg Protsahan Puraskar in the 2024 National Sports

Awards ?
(A) Olympic Gold Quest (B) JSW Sports
(C) Physical Education Foundation of India (D) Sports Authority of India
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TE (@) AT F=&HT/Section (B) General Science

6. ST i< et Topelt g < ey TR e 3, T el A A AT € 2

(A) ETEGNH - \N) (B) g
(C) wmed SrgelioERs {:’3 (D) et
Which gas is liberated when an acid reacts with a;metal ?
(A) Hydrogen t‘;“i (B) Nitrogen
\ (C) Carbon dioxide 4 (D) Oxygen
C

7. DR S E Y <
(A) Hee ST T I (B) ATeRefST=T T ST
(C) T g IS T STERIE0r (D) Fae frarfim 1 srastior
What is the function of the small intestine in humans ?
(A) Digestion of fats only ' (B) Absorption of oxygen
(C) Absorption of digested food (D) Absorption of vitamins only

8. -aT WISl Sen ST ¥ HieRTET o g frofeT e ?
(A) ST () 2 ®) Gl
(€) SRy (i) @ © sty (RRe)
Which connective tissue connects muscles to bonisnlin animals ?
(A) Tendon - (,:I (B) Areolar tissue
(C) Cartilage \j (D) Ligament

ROk

9. T TIOT T KGRI &, SV FHTo bl AFaft STy, S Terel ST St STTAfe e e 2
(A) SAEHIHT (B) SECHEhIRUT (AT FIIESIT)
(C) wEEarSTERAT | (D) sEe

. What is the property called that allows carbon to fgm long chains and rings ?
(A) Ionisation (&) (B) Polymerisation
) (C) Covalency C\) (D) Catenation

<
10, forelt T eraTel =TT o = SR TSR %ﬂ*@@%aﬂ SR ST BT & 2

(A) FAERR O® EIERIEG
& -t
(C) el (D) STUSIFHR
What is the shape of the magnetic field lines arougfiaia straight current-carrying conductor ?
(A) Circular ) (B) Irregular loops
(C) Straight (D) Elliptical
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11.

12.

13.

14.

@W@a@uﬂ{zs%mwmm%lﬁaﬁrﬁwmﬁ%wwwﬁmw%%ﬁﬁm
iwwzo%ﬁgzéﬁ%maﬁaﬁm%mé?@; | mﬁ,@aﬁaﬁaﬁw%w,agmﬁ@gawﬁ
Fr R A 10% Hr 5 Fard | W@aﬁﬁwwﬁwwﬁw%lmwmn@w
g7 >, |

(A) €36 <j (B) €108
(C) €96 “:tf’) (D) %48
L

A shopkeeper wants to earn a profit of 25% on ang icle. He marks the article at a price such that even after
giving a 20% discount on the marked price, he sti makes the désired profit. However, due to a festival
offer, he mistakenly gives an additional 10% discount on the discounted price. As aresult, he earns ¥ § less
than the expected profit. What is the cost price of the article ?

(A) T36 o (B) %108
(C) %96 (D) %48
S ol Eearail ¥ sffer ot i 66 % | aﬁ‘rmsﬁa@}gmz 15% | A et ¥ 9
(A) 44,110 ("j (B) 66,126
(C) 74, 140 ~ (D) 54,120
The difference between two whole numbers is 66,"The ratio of the two numbers s 2 : 5. What are the two
numbers ? &
(A) 44,110 I B) 66,126
(©) 74,140 } {1 D) 54,120
, /z
erefY S =7 4/5 T 36 H&AT % fi-send § 4 H@L% | ST
(A) 12 B) 80
(©) 64 (D) 102
Four-fifths of a number is greater than three-fourtég of the number by 4. The number is :'
(4) 12 > (B) 80
©) 64 s (D) 102

CIFAN

Sin 2A = 2'sin AU, ST A = ij

@A) 30° 3 ®) 45

© o° <] @) 60

sin 2A =2 sin A is true when A =

(A) 30° | B) 45°
(© o (D) 60°

3
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16.

7

Frefofea & & el s gt et gt &

(A) 7056

(B) 4624

(C) 5475 f‘n‘fj

(D) 3969 K;)

Which of the following numbers is not a perfect §qu§are ?
&

" (A) 7056 (::)

A

(B) 4624 'S

(©) 5475 <]

(D) 3969

WR%@@Q‘%WWW%Wl:2:3%@3%&%|R%Wﬁ§ﬁ%w%ﬁga% |
TG <k & T &G FATE 7

@) Rz(n_ij
4 4

®) R*(n-+5)

O@

~

© g2 (n—%] %)
D) 2 ("“@J 9
2 ~d

Angles of a triangle, inscribed in a circle of radius R, are in the ratio 1 : 2 : 3. What is the area of the region
inside the circle but outside the triangle, in terms of R ?

) r2 (n—i] © |
4 O
(B) R?*(n—+j3) <]
®
: <)
© th(n—%) C:;
<
(D) Rz(n__zj
2

02/25-SK/HD/2 (7—-A)



17.

18.

Ry, W(A)%W%mwwm)mwﬁmw%lwwaﬁm
ST (4) - ok g, 1f 2 e 3o & e ot o, S s e e £

HR (R) @aaéa%gﬁaﬁmw@mwm%ﬁmﬁw%‘n%aw%l

(A) i (A) T, T o ) TR | )

®) aﬁw:r(A)aﬂTW(R)ﬁaﬁ%aﬂw@}R FRET (A) € ST AT Y |

(C) e (A) e R, ooy R (R) we R | <]

(D) AR (A) SRR (R) 2T welt &, v FB (R), SR (A) B et s TE T |

In the given question, a statement of Assertion (@ﬁs followed by a statement of Reason (R). Choose the
correct-option.

Assertion (4) : In a circle, if two chords are equ1d15t nt from the centre, then they are equal in length.

Reason (R) : Perpendicular drawn from centre to a“chord bisects the chord.

(A) Assertion (A) is true, but Reason (R) is false.

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of the
Assertion (A).

(C) Assertion (A) is false, but Reason (R) is true.

(D) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of the

Assertion (A).
wra&mmmwnaﬁmwﬁm}wéﬁﬁq
i I "’\ HieT I

L 0 ST Tepforen Yt witer & ST der
T T——— Q e e
11 S . f ! He
v. 2 EESICER:Ca)
& :
(A) I3,1I4,0I-1,IV-2 B) I3,I-2,1I-1, IV-4
(C) I-2,11-4, II-1, IV-3 (D) I-4,10-3, III-1, TV-2
Match each of the entries in Column I with the a 5 opriate entries in Column IT :

Column I -~ Column IT
L Includes 0 and natural numbers i\] 1. Irrational number
IL. Inf]udes all rational and irrational numbe% 2. Rational number
o p O 3. Whole number
Iv. z_ ,<] 4. Real number
Codes :
(A) I-3,114, II-1, IV-2 B) I3,1-2, -1, Iv-4
(C) I-2,114, -1, 1V-3 D) I4,1-3, -1, IV-2

02/25-SK/HD/2 (8-A)
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19, o 2025 &, weh s ST HIRTER ST 6T x% T AT ¥ | o8 arelt g8 URT b y% T o v e & | S
8, T STl g TN AT 2% S A FawT vt ¥ | af sorh o r=ht g sifem ofdn o 2024 # seeht wiftes amr
N p% FRER S, ANHX, v, 2, pBﬂTWﬁZO@ﬁW%WM%WﬁWTﬁI

100 M (1— x ;g{;’ Zj (m.;

® = <

P ®

F e NG

| li}OM(l————) (1--—’—].(1-—?,-}(;
® 100 )\ 100\ 100 )\

I P <

M(x+y+2)
A

©
~ p

&
O
<

In 2025, a man donates x% ofthis monthly incon{c?}o charity. He spends y% of the remaining amount on
rent. After that, he invests z% of what is left into @)‘:ks. If the final amount left with him is equal to p% of
his monthly income N in 2024, express N in term‘sdqf X, ¥, Z, p and his 2025 monthly income M.

100M[1— “‘””’J
@ ' 300
p
©
B e s
"ﬁ ®) 100 100 100 \j
P
P Q
'(C) M(x+y+z) {;]

p <]
o M@ —px —y—37)
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20. ﬁw&rﬁaﬁ%aﬁqmﬁm%%&wﬁw%?

L mmﬁwmaﬁaﬁmm%ﬁW%n
I mmﬁwmwuﬁrwﬁa@%l
I mﬁmw%mw%mwmﬁw% RilTeR ST G =TT 31k Rpa sa

&l ® _

Iv. mw,maaﬁrwm%%qﬁ%%mﬁamm%mm,%mﬁ
et ey (3

%@F!T:

(A) I

(B) ¥V

(©) FawI &

(D) et 11 3 v (}*D

<]
Which of the following is/are true regarding inte &9
L Compound interest is caiculated only half~yi'.°gﬂy.
rd

H. Simple interest is calculated only on the prir;apal amount,

II. Compound interest earned or paid does not increase over time as interest is earned on interest.

IV. For the same principal, interest rate, and time perjod, compound interest will always be greater
than simple interest, especially over longer periods.

O

Options : {J
(A) II only @‘)

; J
B) IandIv only Q
(C) Ionly 'Cq

D) MandI1v only

02/25-SK/HD/2 (10-A)



21.

22,

23.

W=

TS (9) HFE/Section (D) Computer

A 311 T e B 3 it & o e g, afana T 50,000 & AT AT arer it @ Rosmy
mwmﬁwwaﬁ%%ﬁaﬁqmm@wmw%?

<

(A) AVERAGEIF =
(B) COUNTIF , CJ
© sum <
(D) SUMIF &

If you have a list of employee salaries in ColurgnjB, and you want to calculate the total salary paid to
employees earning more than ¥ 50,000, which E}({;g\lf function is most appropriate ?

(A) AVERAGEIF <]
(B) COUNTIF

(C) SUM

(D) SUMIF

MS 7 H, 71 30 I e forem 78 et sy o o Rver st o s R s R 9
(A) Bsc

| &

(B) Alt+ Enter e

(C) Ctrl + Enter Q

(D) Shift + Enter '<1

In MS Word, which key/s is/are used to create a 1@797 line without starting a new paragraph ?
(A) Esc C

(B) Alt+ Enter {:]

(C) Ctrl+Enter ’ <j

(D) Shift + Enter

ST TS SEEeROeT <h el #, -t efiien Tiey 0 & SToal ) 993 e & & =pfieper shet 3 R s oy
STl B, HeTer: R-Heh reashier TTafdet & Seure S Siad ue 9

(&) SreFTESE ®
®) iR (;}
(C) AT <
(D) wfif ®

In the context of Natural Language Processing, v&ﬁi};h technique is primarily used to reduce words to their
root form, potentially at the cost of producing no@andard dictionary entries ?

(A) Tokenization <

(B) Parsing v ~

(C) Lemmatization

(D) Stemming

02/25-SK/HD/2 (11-A)
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b=l g

I HDMI 9 srg-2fm afifesdt afit sfifsay EEIGETGRY
M PR v erd o s fman s, =

%EBFIT:
(A) FaTI

Concerning computer hard

I USB ports Pprimarily

-
<
(B) HaeIst ® © e IT 37K I
ware ports, which statement(s) is/are true 9
connect peripherals fo{ﬂpta transfer and power.

. HDMI ports transmit high-definition audimgﬁ’{d video signals.

II.  Ethernet ports are exclusively for printers,

Options :
(A) OnlyI (B) OnlyIandII (C) Only IT and 11
25, ﬁw%fﬁaauﬁafmmﬁ-n'émm%waﬁmﬁ-mﬁﬁamﬁm:

-1 i/ ®
CleLar) (i) O

L HTTP 1 e ey ¥ g <

I FTp 2. WIS R w3 R

I SMTP 3. H¥wdemafm

IV. DNS 4 sﬁﬁ#mﬁmqﬁa@%@%m

Frewe ’ 6:‘]

(A) 13,112, -1, IV-4
(©) I1,11-3,10-2, Tv4

(B) I-2,II-1, III-4, IV-3
(D) I4,11-3, II-1, IV-2

Match the following Protocols (List-I) with their %;}-_poses (List-IT) :

List-I . Lise-IT (.:..«\
(Protocols) (Purposes) ‘;j/
I HTTP 1. Sending email @}
. FTP ) 2. Transfers files 6
oI .SmM1® 3. Web data communicag'?f}
IV. DNS 4. Translates domain nar@;} to IP addresses
Options :

(A) 13,112, III-1, TV-4
(©) 1,113, 112, V4

(B) I-2, 111, IIT-4, TV-3
(D) 14,163, II-1, V-2

02/25-SK/HD/2
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WIT-II/Part-IT
TE () 3iTsil/Section (A) English

Directions : Read the following passage carefully and answer the questions given below :
On October 2nd, a group of school students initiated a jﬂ%étic cleanup drive in their locality. They collected over
500 kg of waste and submitted it for recycling. Inspired\' 1')?) Gandhian principles of self-discipline and cleanliness,
the students voluntarily planned and executed the event#ithout external pressure. Their dedication encouraged
several adults to join the effort. Local authorities commiénded their work and provided logistical support. The
success of the campaign received attention from mul@ie news channels, and soon, schools in nearby towns
replicated the initiative. Several households also pledg{ﬁf}o reduce single-use plastic, and some local businesses
started offering eco-friendly alternatives to plastic packaging.
26, What was the primary motivation behind the studgnﬁs’ cleanup drive ?
(A) Prize money ~ (B) School competition
(C) Gandhian values (D) Government order
27. Which figure of speech is best exemplified by the phrase “motivating schools in nearby towns to replicate
the initiative” 7.,
(A) Personification (B) " Alliteration
(C) Metaphor : (D) Cause and effect
28. Which of the following was an outcome of the cleanup drive ?
(A) Conferment of a national civilian award by @Qstitutional authorities.
(B) Amplification of the initiative through mediacqverage, prompting emulation in neighbouring regions.
(C) Introduction of statutory regulation on plastie4fse in the locality.
(D) Institutional suspensions of academic activit“};ﬂost event.
£

)

Directions : In the following passage, some words hav@een omitted. Each blank is numbered, and beneath the
passage, four options are given for each blank. Choose @g word that best fits the meaning of the sentence and the

context of the passage. R
The Himalayas are not only a physical barrier but also a climatic (29) . They prevent the cold winds
from Central Asia from entering India, thus helping to maintain a (30) winter climate in the north.
Moreover, they play a crucial role in causing rainfall by (31) the monsoon winds. These mountains
are also home to a (32) range of flora and fauna and are considered a (33) zone of
biodiversity. @,/
29. Options. : . (*v ‘

(A) shield (B) frontier ~= (C) obstacle (D) ridge
30. Options : {j

(A) arid (B) moderate & (© harsh (D) stagnant

31. Options: 5 <:]

(A) deflecting (B) halting C} (C) cooling (D) speeding
32. Options : <1

(A) static (B) diversified (C) perennial (D) restrained
33. Options :

(A) barren (B) fragile (C) hazardous (D) hostile

02/25-SK/HD/2 (13-A)



34. Pick the correct meaning of the idiom :
To turn a blind eye
(A) To be surprised

(B) To gain attention ' (@
(C) To be vigilant (,-.)
(D) To ignore intentionally S

QN
35. ‘Which of the following is the correct c:ollocatioqrf?/1

(A) Make a promise

) |
" (B) Take a promise

(C) Give a promise L (D) Do a promise

36. The following sentence has the incorrect questio
tag.
He never came to school, didn’t he ?
(A) didbe?
(B) doesn’theg ?
(C) hashe?
(D) washe ?

<

37. One who loves mankind is called :
(A) Philanthropist
(C) Pessimist

38. Choose the antonym of “Rigid” : {'J
(A) Flexible @M,
(B) Cold ps
(C) Strong - '*;;}
(D) Tight ﬁwg

>

]ﬁtag. Choose the option that best corrects the question
.,

&) (B) Misogynist
Q ) (D) Egoist

39. <Choose the correct Passive voice form of the ser&ce given below :

They are watching a movie.

(A) A movie has been watched by them.

(B) A movie is watched by them.

(C) A movie was watched by them.

(D) A movie is being watched by them. @)

40. Choose the correct modal to complete the sentefice):
You finish your homework before going@\ijnt.

(A) would P

(B) can

(©) must & D) might
. 4

LY
41. Choose the correct option to complete the sentensé.:
If he

(A) catches
(B) catch

(C) caught
(D) had caught

the train, he would have been njtime.
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42,

43.

44,

45,

46.

47.

48.

49,

50.

Choose the correctly spelled word :

(A) Persistanse (B) Parsistence
(C) Persistance (D) Persistence
Choose the correct order of words to form a meé?igﬁgﬁﬂ sentence :
e
1. vegetables k__)
: o
2. fresh i
3. from the market N
f"'\
4. buys \::Q
<1
3. mother -
(A) 5,4,3,1,2 B) 5,4,1,2,3
(C) 5,4,1,3,2 D) 5,4,2,1,3
Fill in the blagk with the correct preposition :
She is confident her success,
(A) on R (B) of
©) in (D) with
Choose the antonym of “Scarcity” : &
(A) Poverty (B) Shortage N (C) Plenty (D) Lack

Choose the correct Indirect speech form of the s@’ience given below :
She said, “T am studying for my exams.” .

(A) She said she had studied for her exams, @
(B) She said she is studyingor her exams, <)
(C) She said she studies for her exams. O
(D) She said she was studying for her exams. {‘: 1{

Fill in the blank :

Despite the warnings, she to ignore the signs.

(A) choosing (B) choice (C) chose (D) was choose
Choose the synonym of “Reluctant” :

(A) Hesitant (B) Eager ® (© willing (D) Prompt
Select the sentence in the simple past tense : (._)

(A) They will visit the museum. <4 (B) They have visited the museum.

(C) They are visiting the museum. @ (D) They visited the museum.

The foll&wing sentence is grammatically inccﬁ?ﬁct. Choose the option that best corrects the entire

sentence. ¢
The book is too interesting to put it down.

(A) The book is too interesting to be put down.
(B) The book was interesting,

(C) The book is very interesting to be put down.
(D) The book is so interesting to put down.

AN

e,
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